FAF 22 IRAPE NI ER S 28D % 364 8&% R PHELA
FHAL(25%8 0 7344 0 £1004)

1LoFa T Fapt- 3 e » BT s e A7

(A) #r# & chle IR & 3 (B)“7# & e 45 & 3 4F
(C) # & & chf = & 3 4 (D)8 = ehle ] p & A4p %

2. 24?2 S A Z B - B Z BRI T & 0 A ¢ N0 e
rEATE B0 QDT DR R E R

e e e h B e K < o Bl X o FEIZ | 2507 | T
k / HEFES o F AT PR EX % > P X PR SR iy ) <\3
Vi 2T vR- B ? (A)25 (B) 3.1 (© 1.9 (D) 7.8 3N : :

3. w5 ABCD ¥ » 3 4 4 M AC 2 BD Ap 2 O Bk o 347 & = B
tr ¥, ABCD 5 %7, (")AC LBD  (¢)AC = BD
(AT ~ 2 B) ~ 3 ©Ce - D) ~2

24 2,
iE i

(T)e)F)P o Pt eniE i
(7) AO = CO » BO = DO

4, T F|R—

BEIF A BiEE > A i A2 r f7 ABCD = 5 T (72 1§45 9
(A) AD =BC - AB//CD

(B)AB // CD - AD // BC

(C) AB=CD » AD = BC

(D)AB = CD + AB// CD

5. T 5(vi- BEA LA LIM?
89° o 91° .
(A) L ) 89 | ©) L ©__ 18 |
89°
M M M
87° 89° 200

6. AABC ¥ > 3% AB =11+ BC =9+ CA =311 > Bl LA~ /B~ /C= B éhx [ B 55 T 5@
(A) ZA> /B> ~C (B) ~A>.C> B

& 9

A

(C) 2C> B> £A (D) ~C> A> /B

7.

¢ 5vAABC ® » ~A=50°> ~B=55° 7RA& AB ~ BC &2 AC th+ | B 2 4 i» ?
(A) AB > AC > BC

(B) AC > AB > BC

(C) BC > AC > AB

(D) AC > BC > AB

8 ©Ti7wi#3)ABCD ¢ » AB # BC - ¥4t &£ AC ~ BD » P T #li ¥ I fi ?
(A) AABC= ACDA  (B) AABC= AABD

(C) AABC=ACDB (D) AABD =ADCA

>
»




9. T LEF AT T FHF?
(A) Bl ¥ AR5/ > REPEES 5> RABRE r B T H- &3
(B) A pEenT Fu > w2 N Ak T oM & FSET
(C) mfayehd E L sF 2L > Pl w )0 5 2

(D) @ iE s E £ 2 3 4pT £ e ifA) > & 5 AR

10. ZA=64"> F LBhd Ffc LA A BT AT 7 Bl LB R BT L 5 T AP

=k
)

(A) 26° (B)36 ° (C) 116° (D) 126°

11. /JABCD ¥ » AB it BCehd 25 12 24 » CD £ AD +15# » p| CD — BC =
(A)11  (B)12 (C)13 (D)15 =24

12. /[ /ABCD * » £A=(2x+3y-15)" » «B=(2y)" » £C=(3x+y)" >
Bl x—y= (A) 10 (B) 5 (C) 15 (D) 20

13. 4% @ > %/ ABCD¥ » BE - 4 /ABC> ¥ BF £ AD 2 **F » #* CD % *'E »

% CE =11 DF =5 p|/ ABCD:#% £ 5 (A) 44 (B) 48 (C) 54 (D) 58

14, 4+ ® > $2, ABCD ¢ » AD//BC » AB = CD =17 AD =10 BC =26
RIS H-255 4 5 (A) 240 (B) 288 (C) 260 (D) 270

15. f£AABC 1 > B41 AB > AC > BC » ~C=70"» HIl /B {ya#aE By ?
(A)0°< ~B<55°  (B)55° < ~B<70° (C)35° < ~/B<55° (D)0° < ~B<70°

,

"~
N
oy




16. = i§45 ABCD ¥ > & & chE fiche L B#r7 > Bla b c de Bl [ HGL @9

(A)c >d >a>b B)b >a >d >c
Ca>b>d>c D)d >c >a>b
17, 4t B > Ll Lo~ LallLa» ® £1=T79" ~ £2=130" ~ /3=23" » L 1
Bl 24=  (A)24° (B) 25° (C) 26° (D) 28° / /
L:
2
3
L
Ls
18. 4@ > = #75 ABCD % ¥7; » ACDE % & = 47 - % ~ADC=82° || ~ABE= & B
(A) 9° (B) 10° (C)11° (D)12°
E
D A
19. 4+ H > AB//CD » % ,1=84"» /2=61°"> * FGL A /CFQ: B| /G=
(A) 10° (B)11° (C) 12° (D)13° C,
\ p
2
c &
r
0 B
D
20. 4@ - $-7; ABCD ¢ » DAJ/ICB P-~Q-Rw %4 AB »=x DA//SP//TQ//MR//CB - p A

¢ 5o DA+ SP + TQ + MR + CB =80 % MR =19+ #| DA = SQ{
(A) 13 (B) 12 (C) 11 (D)10 T Q

,

>
w
oy



21. 4 > w i$7; ABCD ¢hd $t 4 5fp 2 O 2t o ¢ 5o AB = AD =13 » BC = CD =20

» AC =21 % BD £ =a - = i#7; ABCD #a #=Db- pl a+b=
(A)256  (B)276  (C)296 (D) 316

D
22. 4o B » AABC ¥ » SABC ¥t /ACB & T 4 s4p 2> D B ; i D B4 PQ th (747 »

$AB ~ AC A 6|23 P Q@80 3% AB =18 BC =21+ AC =24 - A
PIAAPQ 1% £ = (A)39  (B)40 (C)41  (D)42

23. bet @ L/M> = 2 EFGH 52+ 35> 2 E & Lt > 8 C &M
ELL=TT" 5 plL2=X"» £3=Y s Pl X—Yy=

(A) 19° (B) 20° (C) 21° (D)22°

24. 4o+ B> AABC ¥ »M % BC ¥ 2hoiti4s AM Faf £ T E2to 12 F AM =
@42 BE - % AB =21 AC =15 P| AM £ & s [l 5

E >

A
(A) 3< AM <18 (B) 7.5< AM <115 .
(C)15< AM <21 (D) 6< AM <36 B ;

N
E
25. 4ot B > b — T 5 ¢ > w835 ABCD ~ CDEF ~ ABFE %8 £.T {7 o 182
C
¢ 5v/BAD=74" ~ £1=50" + ~2=64" > B| Z/BFE=
(A)120°  (B)140° (C)144° (D) 148°
D
A

—-END---

>
»



